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What percentage of the EU's land space is covered by forests and wooded land?

A) 30.25%
B) 43.52%
C) 50.15%
D) 60.10%

According to the text, forests are essential for which of the following aspects of
European life?

A) Urban development

B) Economic stability only

C) Cultural heritage exclusively
D) Air quality and mental health

Why are forests a key resource for Europeans’ mental and physical health?

A) They are a place to escape pollution.
B) They connect us with nature.

C) They prevent global pandemics.

D) They are only for ecological reasons.

How have forests contributed to European society over the centuries?

A) Only through food provision

B) By supporting cultural heritage, tradition, and innovation
C) By offering space for urban development

D) As a place of worship and pilgrimage

What role do forests play in reducing the risk of zoonotic diseases, according to the
text?

A) They serve as barriers to human development.

B) They provide habitat for all animal species.

C) They have no impact on zoonotic diseases.

D) Healthy forests lessen the risk of disease transmission.



. Which of the following statements is correct regarding the conservation status of
forests in the EU?

A) All forests in the EU are under protected status.

B) Forests are generally healthy and need no further protection.
C) Forest conservation status needs significant improvement.

D) The majority of EU forests are in perfect condition.

. What does the text identify as a major consequence of climate change on forests?

A) Improved water retention in soil

B) Greater vulnerability to pests and diseases
C) Enhanced growth rates of trees

D) Increased tree biodiversity

. Which factor is noted as aggravating the vulnerabilities of forests under climate
change?

A) Increased biodiversity

B) Pollution

C) Sustainable management practices
D) Urban development

. Which strategy is mentioned as being anchored in the EU's efforts for a sustainable
future?

A) The European Green Deal

B) The EU Economic Recovery Plan

C) The EU Trade Agreement

D) The EU Urban Development Strategy

10. The EU Forest Strategy replaces which previously adopted strategy?

A) EU Forest Strategy from 2013
B) EU Climate Action Plan

C) EU Biodiversity Strategy 2020
D) EU Agricultural Policy



11. What is the target percentage for greenhouse gas emission reduction by 2030 set

out in the European Climate Law?

A) 45%
B) 50%
C) 55%
D) 60%

12. What does the term "multifunctional role of forests" refer to in the text?

A) The ability of forests to serve only economic purposes.

B) The diverse benefits forests provide, including ecological, social, and economic
functions.

C) The exclusive focus on timber production

D) The reduction of biodiversity in forest ecosystems

13. What does the term "sustainable forest management" entail according to the text?

A) Maximizing timber yield at all costs

B) Ignoring biodiversity concerns for economic gain
C) Focusing solely on reforestation efforts

D) Balancing ecological health with economic needs

14. What does the strategy propose to boost alongside sustainable forestry practices?

A) Urban development

B) Commercial fishing

C) Industrial expansion in rural areas

D) Non-wood forest-based economic activities

15. What is emphasized as crucial for the success of the EU Forest Strategy?

A) Increasing forest area without regard for biodiversity
B) Complete eradication of non-native species

C) Larger, healthier, and more diverse forests

D) Focusing only on economic outputs from forests

16. What principle guides the sustainable use of wood, according to the text?

A) Maximum extraction for economic gain

B) The cascading principle and circular economy approach
C) Unregulated logging to increase profits

D) Complete cessation of wood usage



17. Why is the next decade described as crucial for forests in the text?

A) It will see a reduction in forest areas across Europe.

B) It will prioritize urban development over forest conservation.

C) It marks the end of all logging activities.

D) Itis a period for implementing urgent measures against climate and biodiversity
crises.

18. According to the strategy, what is necessary for forests to provide livelihoods in the
future?

A) Halting all logging activities

B) Reversing negative trends and promoting biodiversity

C) Prioritizing urban forestry initiatives

D) Removing forests from economic development strategies

19. What is the proposed measure for planting additional trees in the EU by 2030?

A) 1 billion trees
B) 2 billion trees
C) 3 billion trees
D) 4 billion trees

20. According to the text, which of the following is NOT a benefit of forests mentioned?

A) Biodiversity preservation
B) Cultural heritage

C) Job creation

D) Urban heat management
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